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T Refio: @R
216 x 1003 = 1003 =
219.3+ 100 = 1317 x 100% =
107 = 150.1 x 10D =
1001 = 484+ 102 =
1072 = 1 x 100D =
229.3 x 1077 = 1004 =
582.4 x 10°Y = 4% 1004 =
121.6 x 107 = 1009 =
1072 = 111 +107% =
107 = 268.9 x 10 =
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216 x 1077 = 0.216
219.3 + 10 = 2193000
107 = 0.001

1079 = 0.1

1072 = 0.01

229.3 x 107 = 0.2293
582.4 x 107% = 0.05824
121.6 x 10 = 0.1216
1072 = 0.01

10°% = 0.0001

feiep:
107 = 0.001
131.7 x 107 = 0.01317
150.1 x 100V = 15.01
484 = 1072 = 48400
1x 107V =0.1
107 = 0.0001
4 x 107 = 0.0004
107 = 0.0001
111 = 10% = 1110000

268.9 x 107 = 0.02689
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